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TB analysis
NA62 data, Binning, ToyMC



Method Description 2



Method Description (pol2) 3

• For the every 100µm R bin from the R(T) TH2 get the T point according to the 
maximum of the distribution.


• Fit or interpolate the extracted T vs R distribution with pol2


• Build distributions of residuals Y − Ytr versus Y for the straw tube, where Y is 
the value from the inverse V-shape function and Ytr is the extrapolated 
coordinate


• Slice the data in Y bins and fit the 1-dimensional distributions of residuals by 
Gaussian

Still waiting raw data from Dosbol



Spatial Resolution Estimation for NA62 data 4

4− 2− 0 2 4
U (mm)

2

3

4

5

6

7

8

9

10

 (n
s)

T
σ

 = f(U)Tσ  = f(U)Tσ

4− 2− 0 2 4
U (mm)

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

 (m
m

)
U
σ

)Tσ = f(Uσ )Tσ = f(Uσ

Resolution: (0.099975 +/- 0.00113005) mm

Fitting the  with pol4 and find the average asσU = f(σT)

f̄ =
1

b − a ∫
b

a
f(x)dx

using weighted mean:



Spatial Resolution Estimation for NA62 data (vs Artem) 5

4− 2− 0 2 4
U (mm)

2

3

4

5

6

7

8

9

10

 (n
s)

T
σ

 = f(U)Tσ  = f(U)Tσ

4− 2− 0 2 4
U (mm)

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2
 (m

m
)

U
σ

)Tσ = f(Uσ )Tσ = f(Uσ



Binning tests 6
Thanks to Dima!

R bin = 20 µm

• Do the scan of bin 
size dependance


• Bin size from 40 to 
200 with 20 µm 
step


• Both methods were 
used (weighted 
mean and pol4 
integration)
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Resolution: (0.099975 +/- 0.00113005) mm

Fitting the  with pol4 and find the average asσU = f(σT)

f̄ =
1

b − a ∫
b

a
f(x)dx

using weighted mean:
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Binning tests
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ToyMC 8

Where should we use the information about the scint Resolution?  

Do the toyMC:


• Find T as F(R) = pol2(R)


• Smear the T with Gaussian where sigma = 2 ns


• Smear the R with Gaussian where sigma = pol4(R)



ToyMC 9
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